O T4 g B A 5INPT 5O 2
44 A0 heTe
1 1 1 1 1

S x15+3+2(52—2)= S x25+5-2(~— )=

2>< 5+3+2(5 2) 3>< 5+5 (4 2)

3 1

46% 1253424+ 3) = 5-336-3)=
25><8*4+2(3+1)= 22><10*5—3(56+1)=

' ' 2 4 ' ' )
(1—56)><2—37= 34><15*3+5(1—1)=

2 7 ‘ ‘ ' 3 2

1 3 2

—+2(2+58)= 46% 84— 4= +32)=

S 25 +58) 6x 8 (5 +32)

www.snowmath.com


https://www.snowmath.com

ar- Y2 ar: A HUN B T B CH 45 )
44 H - DEL
1 119 9 1 11131

L 1534252 — )= = = 11> L X555 D(c — 2= 2 =22

3 ¥ 13312627 3)= 5 10 3B IA = 7%

29 4 1 26

46x12+3-4024+ =T =5. C33.6— o) = (- 0y = (=5

6 X 3—4 ) 55 5-3(3.6 5) ( 5) (55)

301 17 1 139

25X 84+ 22+ )= L —g- 22 % 1 + )= () = (B
5x 8 G+o=5 =85 % 10+5-3(5.6 ) =) = 310)
1 139 9 197 1

L 56 X237 = (-2 = (-13 Ax 153+ 50— L= 2T 6l
(5756 x2-37=(=2)=(130)  34x15:34 5~ 3)= — = 16
13 2 26 1

S 42 +58) =1 4.6% 84— 4(=+32)= (—2) = (—5=
2 +5H) =13 6x8+4-4( +32)= (- 3) = (-53)
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